Id

Question ' g&r IfY fa=og &1 TIeT HIfeTT|
EOCMIE]

A FeT + 3NfA

B e + 3

C afa + 37

D AT + A

Answer |B

Id 2

Question =73 ¥ g@red TATH HT 3ETEI0T ¢ ?

A RIGIEry

B ad

C  km

D ST

Answer D

Id 3

Question forg greg # 3uweT &1 AT oTET g3 & 2

A 3ER )

B FEN

C fagr

D TER

Answer B




Id 4

Question | gqazrar=it 2feg FT TIA FIGTT —
T

A IGRIE)

B oTaT

C gIch

D il

Answer B

Id 5

Question fJaieT oree / RAUdaTd+ 9l
The oI

A ag;m\é;cﬁ‘q‘

F e

C R

D wR¥w

Answer A

Id 6

Question &y fa¥ 71T Qehedl & T AT Asg T TET AT TTT HIfoIT

A IR aTell §T9aR

B iy 8] &1 e

C ART ST aTelr g

D ST # ¥ FE A&

Answer |B




Id
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Question rafaf@a 7 & & wse-2Efd & T ATl
A eIl

B 3fengde

C 37T

D 3MMEr: el

Answer C

Id 8
Questionﬁmﬁ-@qﬁqﬁmwamwwmv—
A AgT IEd® T gl

B 3T s e g

C A el 3|

D e T8 T

Answer |D

Id 9

Question | srafaTear T 3ETEIT & —

A 388 97 for@r Sar g

B g8 HUS G §

C Ade HiadT e gl

D TH & elst g1 S|

Answer |A




Id
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Question |f5e1 arerat & fhaT T Bl Shal & AFfaRed 3T fad W 92, 9
gid &-
A qhaieh foham bl
B it fohar ger
C 3rhdteh foham gerd
D SIH U HIS gl
Answer |A
Id 11
Question |On 08 Jan 2019, a Memorandum of Understanding (MOU) was signed
between the Indian Army and on the Defence Salarv Package.
08 STTadr 2019 =hl, &I AdeT Yohol T ARAT Tl 3iR
& AT Th GASIAT A9 (THA3NY) W gEAER fHu e
A UCO Bank
Tl s
B Dena Bank
CGIRCED
C ICICI Bank
IMSASHIIS
D PNB
GruaTdr
Answer D




Id 12

Question | According to World Economic Forum Report, India is set to become the
world's third laraest consumer market by
des ShlAlTAS BRA HI RUIC & 3HdR, am?r __ d% fawa
T NG JIQ 87 3URFAT ST Solol dTell gl

A 2040

B 2020

C 2025

D 2030

Answer D

Id 13

Question \Which Country bans sinale-use plastic baas in supermarkets?

fFe gor o FRATHT H Tohel YA dlel Talliecad ST ] Ffdee
o e § ?

A Israel

SoRTS ST

B Japan
SIT4Ted

C China
et

D South korea
af&oT FHIREr

Answer D




Id 14

Question |Government has allowed Iran's Bank to open a branch in Mumbai
while India's will be openina a branch in Iran.
WFR o A & dh I HES H Teh AT Tl AT
St ARgGH | SUT H U A1@r @)

A Pasaraad, AXIS Bank

B Pasaraad, HDFC Bank

C Pasaraad, ICICI Bank
qOETG, SHISHIANS g6

D Pasaraad, UCO Bank

Answer D

Id 15

Question | Tamil Nadu CM EK Palaniswami announced in the state Assembly the
creation of the District named Kallakurichi, which will be carved
out by bifurcatina Villupuram.
dfAeATg & A g T o T faUTTaer #H
Foellpdl ATH & fSrel & f#ToT &hr gor &, S
faeaqua &1 feganfad s s=rr seam|

A 32nd
32 d

B 33
33 d

C 36
36 d

D 35t
35 d

Answer B




Id
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Question | In which city, Fourth meeting of the Council for Trade Development and
Promotion (CTDP) was held?
e agX # R faera 3R dada awg (@ESd)dr ated
4o AT T 7?2

A New Delhi
7S feeon

B Mumbai
iSs]

C Chennal
BEaE]

D Kolkata
hleTenTdl

Answer |A

Id 17

Question |Who has inaugurated Andhra Pradesh's Seventh Airport at Orvakallu near
Kurnool city?
forae el 2T & UTH 3dlehoe] H 3T YS2T & AId gars
3133 &1 3cured fhar g ?

A N Chandrababu Naidu
Tl TgaTe AIg

B Narendra Modi
g A

C Ram Nath Kovind
TH AT wifde

D M Venkaiah Naidu

TH dohdl A3

Answer

A




Id 18

Question |According to Asian Development Bank (ADB), India's Gross Domestic
Product Growth Rate is expected to in the Financial Year 2018-19.
U‘fﬂ'&ﬁﬁﬂéﬁ(@@)%%, o a¥ 2018-19 7 sk
$T T W], 3cTE T gfeg X T T IHeTAT &

A 7.3%

B 8.2%

C 7.1%

D 7.2%

Answer |A

Id 19

Question | Indian Space Research Organisation (ISRO) has announced setting up of
Human Space Fliaht Centre in :
HRAT 3TANET HEUTT IS (SEA) o H 3aie
33TeT shg TUTUA el I GIwoT T gl

A Mumbai
IS

B New Delhi
75 feeahr

C Benaaluru
TR

D Kolkata
hleTehldl

Answer |C




Id 20

Question | President Maduro sworn in for second term.

& qsgafd Al A gAY FRIHA & v gy o)

A \Venezuela

o]
B Buloaria
ElooHIIii?III
C Alaeria
3‘](’3‘”1?:”
D Armenia
AT
Answer |A
Id 21

Question | In which city, Indus Food fair will start from 14 January?

fore 2T & 330 §5 BW 14 FAT T YE g

A Greater Noida
deT Arger

B Dehradun

ENIgeT

C Kolkata
SleTehTdl

D New Delhi
g feealr

Answer A




Id
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Question

Purna Chandra Thapa has been conferred with the Honorary Rank of
‘General of Indian Army’ by President Ram Nath Kovind. He is army
chief of which country?

qul dg U197 & ISgaid TH AT Hifdg @RT 'STolkel AT Sf3aeT
3Tt Y, AT ¥ gereT #T a1g ¢ | 98 R & & J vy
g7

Myanmar
AR

Maldives

AT

Banaladesh

qTATCR

Nepal

A4rel

Answer

D

Id

23

Question

Who received the honorary membership of the Sydney Cricket Ground
(SCGQG) for their contribution to the sport of cricket?

frae fhdhe & Wl # 3% IRIEA & TaT s e o133
(TEHETS) & Al HeEIdT gred $r g7

Virat Kohli and Ravi Shastri
e ager 3R T arEr

Virat Kohli and Rohit Sharma

favre gl 3R Afed &

Virat Kohli and Shikhar Dhawan
faRe Figelr 3R RET a1

Virat Kohli and Ravichandran Ashwin

fatre gel 3R Ma=igsT iREsT

Answer

A




Id
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Question

Nitin Wakankar has been appointed as the new Chief Information Officer
and spokesperson of the CBI. In which vear CBI was founded?

fAfaeT areruTe @ WIS F1 J37 AT Faa1 ATTHRT AR
oo fgerd forar armam &1 fhe av & disng i T2 g9
A?

1963

1964

1965

O 0Ol m >

1966

Answer

A

Id

25

Question

Who has laid the foundation stone of the Kanyashree university in Nadia
district?

fraar aifear e A sweardr faeafaearera $r srurfer w@r g2

Keshari Nath Tripathi
FHA ATT TS

Baby Rani Maurya
a&T T AR

Satva Pal Malik
I 9t Al

Mamata Banerjee

HAAT Sefail

Answer

D




Id
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Question | Ministry of Micro, Small and Medium Enterprises (MSME) will develop
technology centers, along with extension centers across the

country in another 3 to 5 vears.
& A, oY 3R ALYA 3GHA HATSI (TAUHUHS) 39Tl 3 & 5 auf
H S W F AFaR el & 4y, SteNfatehr shat ol faepra
LI

A 30

B 20

C 50

D 55

Answer B

Id 27

Question Sofia Kenin has won the Hobart International Tennis title. She is from
which country?
AIfRAT i o BlEIC S S f@ae Siar g1 ag Fw
g | g?

A Russia
*H

B America
ARG

C Poland
qrelis

D Argentina
ki)

Answer |B




Id

28

Question ' Which Country will set up $10 billion oil refinery in Pakistan?
piT TT 2T gifehedrs & o fafoae stek I aa Resanr
IO HLaM?
A UAE
qus
B Saudi Arabia
34T 3R
C Israel
SoNTSe
D China
et
Answer |B
Id 29
Question | Which State Government has launched the 'One Family One Job' scheme?
g T WHR A 'Th IRAR T AR AT Y& AT g2
A Assam
A
B Manipur
AR
C Meaghalaya
HaTer
D Sikkim
fafeRa
Answer D




Id
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Question '\Which Writer has won the Sushila Devi Literature Award for her novel
"Thinas to Leave Behind"?
ford QTG & 39er 3u=are "R T g fAgEs” & fow gefrer
cdl Aifgcd qRERR AT §7?
A Namita Gokhale
STTHAT MGl
B Mridula Behari
C Harnidh Kaur
gy R
D Devapriva Roy
CCIER e
Answer A
Id 31
Question | Who has received Philip Kotler Presidential award?
foraent fiforT lcer Iegufd REwR e £72
A M Venkaiah Naidu
TH dondl A3
B Ram Nath Kovind
A A1 Hfde
C Narendra Modi
g A
D Arun Jaitley
320T Acell
Answer C




Id
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Question 'Who launched the National Youth Parliament Festival 2019 in New Delhi?
forael feeell & IO Jar T FglcHd 2019 FT YRS foha
g7

A Raijvavardhan Rathore
TgadT TR

B Ram Nath Kovind
A 1T Fifdg

C Narendra Modi
g HAEr

D Arun Jaitley
3207 Sicell

Answer |A

Id 33

Question |Reserve Bank of India (RBI) has imposed a penalty of Rs on
Baial Finance for violatina norms of the fair practices code.

RO Rea §& (AREBMS) o 3T 30T A@fgdr & AlAes! &
Sedtlel & U dollel B W IRs ol STHTAT ST &

A 7 crore
7 ®3

B 1 crore
1 &g

C 2 crore
2 WIS

D 4 crore
4 Fg

Answer |B




Id
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Question

On which Day, Third Armed Forces Veterans’ Day was celebrated?

forer feeT vt ey Qarfeig d=genedl feaw Harar Trr?

A 14 January
14 STeTadl
B 11 January
11 Feaadr
C 13 January
13 STeTadl
D 12 January
12 STeTady
Answer |A
Id 35
Question |Former chairman of the Maharashtra Legislative Council Shivajirao
Deshmukh has passed away recently. He was from which party?
#ERrSe AU aRwe & qa gt RaeiRE Sed@ &7 gl & &
faeyeT g aram| g8 g ardr I 97
A INC
ST
B BJP
ATSYIT
C Shiv Sena
fraqar
D MNS
T
Answer |A




Id 36
Questio |Which State has celebrated Ponagal festival?
n forg TSI # GieTe IR AATIT 13T g7
A Chhattisgarh
SAHIG
B Rajasthan
TSTEYTT
C Madhva Pradesh
TqET Ye2r
D Tamil Nadu
3T geRT
Answer D
Id 37
Question |Udaipur World Music Festival will start on February 15. Udaipur is
known as the city of :
3R favg @l Fglcaa 15 BLall & Y& BlaN| 3cI
& qET & T H AT AT gl
A Lakes
sirer
B Garden
oTdT
C Grapes
E cxi
D Temples
ot
Answer A




Id
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Question | Noted British Mathematician Michael Atiyah has passed away recently. In
which yvear, He was awarded with Fields Medal?
g&aTd fefeer afoiasr Agder 31faare & & &r H Tt g |
frg a¥ &, 3¢ Fregq Asd T TFAAT fhar aram oar?

A 1961

B 1966

C 1968

D 1988

Answer B

Id 39

Question | In which city, India’s largest startup ecosystem has been inaugurated?
frE AT H IRT & T8 93 TCICHT SHITAECH HI 3¢
forar amar 87

A Kochi
HieT

B Guruaram
U;R‘WJ'I?T

C Hyderabad
LREICY

D Chennai
BEoE]

Answer A




Id
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Question '\Which State Government has launched "Sunetra™ scheme which has a
provision of free eve care treatment for all the citizens of the state?
frd U8 @R o "gAAT" Tiolelr AE &7 § Fad T & ol
AR & T HFT A7 @A ITAR I JITUTT §7?

A Raijasthan
IToTETT

B Chhattisgarh
SIS

C Madhya Pradesh
HqET Ye2r

D Odisha
3nfser

Answer D




ID 41-43

Question Type Comprehension

Main Text In each of the following questions find out the alternative which
will replace the questions mark

A T 1 9% gl # & oA & 1 § | [T uge
aH & cleil Ual H Ueh FFeey a1 arm § aUr gEY A
FT TF 9g oed ¢ | G 1 Reredt 7§ & a8 fawew g
ST g IIH & g § HA FFaed I@dT & |

Question Mountain : Hill : : River : ?

Udd : UYgIS : : olar : ?

A Canal
gl
B Ocean
qHa
C Glacier
TR
D Road
SSEEY
Answer A
Question Amber : Yellow : : Carmine : ?

FET UIeT  IET T ?

A Red

oflel

B Green




C Blue
AT
D Violet
eI
Answer A
Question Earth : Axis : : Wheel : ?

gl ;38T : : Ui : ?

A Type
AER]
B Road
dsh
C Hub
o
D Car
CIRs

Answer C




Id
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Question

Amit said — “This girl is the wife of the grandson of my mother.” How is
Amit related to the airl?

AT Fgar & T "o o=dr AL AT & 97 F g § 7| AT
FT 3T oISl T FIT JFIT g7

A Brother
IS
B Grandfather
alar
C Husband
gfa
D Father-in-Law
xR
Answer D
Id 45
Question | Pointing to Ram, Shyam said, “T am the only son of one of the sons of his
father. “How 1s Ram related to Shyam?
TH AT 3R SART A §U A &gl ¢ o "H Hb e & A
A @ Rl T g FT gehallar I €
A Nephew
I
B Uncle
drdr
C Father or uncle
fOar ar arar
D Father
e
Answer |C




ID

46-48

Question Type Comprehension
Main Text In each of the following questions, four pairs of word are given
out of which the words in three pairs bear a certain common
relationship. Choose the pairs in which the words are differently
related.
A G I g% R H sl & IR oA R = §
oo @ i oAt # T JAW Feaey g aur e
g3A et 8| et Goeetr are oA &l gy |
Question Choose the pair which is different in relation.
fAee TEawer arel JaA @l A
A Smell : Nose
e © &
B Hear : Ears
Golall @ o]
C Tongue : Taste
ST : EIG olell
D See : Eye
ST : 3TE
Answer C
Question Choose the pair which is different in relation.
fHee TFEawer arel JaA &l 3|
A Petrol : Car
el : PR
B Ink : Pen




PJT@F:W

C Garbage : Dustbin
TR : Hhslele
D Lead : Pencil
T Ufegd
Answer C
Question Choose the pair which is different in relation.
fAee TEawer arel JaA @l A3
A Hard : Soft
IR : HeIIH
B Long : High
oIFeT ;ST
C Sweet : Sour
HIaT - @cer
D Pointed : Blunt

o

aonlell @ ccel
3 NS

Answer

B




Id
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Question | In certain code language, POND is coded as RSTL, how is HEAR written
in that code?
T fARad &I & & POND &1 RSTL for@r Sirar § ar 347 fis
$TST H HEAR &I $hd for@r Smaem?

A GHIJ

B GHIZ

C JIGZ

D JCLZ

Answer C

Id 50

Question | If GOLD is coded as HOME, COME is coded as DONE and CORD is
coded as CODE, how would vou code SONS?
Ife GOLD &I HOME daT COME & DONE, d2T CORD &' DOSE
forar Srar & af SONS & & for@r S

A TPOT

B TOOT

C TOOS

D TONT

Answer |B

Id 5l

Question | In a certain code, CALANDER is written as CALCNDER. How is
CIRCULAR written in that code?
teh AT s ST A CALANDER I CLANAEDR foi@r 1T &
ar 3T ST H CIRCULAR &I & for@r smem?

A ICCRLURA

B CRIUCLRA

C ICRCLUAR

D CRIUCALR

Answer D




ID 52-54

Question Type Comprehension

Main Text In each of the following questions a number series is given with
one tern missing. Choose the correct alternative that will continue
the same pattern and fill in the blank spaces.
A G I ucdd U H T ot & iy § Swe v
9e o § | o Reedt 7 @ 3@ e fawed &1 g o
&r RfY Aoft &7 eTEROT FIE @ |

Question 17,39,83,171, ...... 7 .......

A 198

B 238

C 347

D 359

Answer C

Question 11,13,17,19,23,29,31,37, ... 7 .......

A 125

B 112

C 127

D 118

Answer B

Question 13,9,13,12,13, 15,13, ... 7 ........

A 18

B 17

C 21

D 19

Answer A




ID 55-57

Question Type Comprehension

Main Text Read the following information carefully and answer the question
given below.
A, B, C, X, Y and Z are seated in a straight line facing north. C is
third to the right of Z and B sits second to the right of C. X sits to
the immediate riaht of A.
s &1 IRIT SeTehRT &l €ATeTqdeh qied Jur 6l I
geat & AT &y | A, B, C, X, Y T2T Z 3R $Tr 3R
HE loh Th AT W@ A S8 § | C, Z & g IR
TATH W AT § AT B, C & & g8 §UF W E | X, A
% TdheH g ST ¥ |

Question Which of the following represents the pair of persons sitting
exactly in the middle of the line?
fAFT @ Slear Jow @1 @ UheHA 9T H ST 82

A XB

B ZB

C BX

D XC

Answer D

Question What is X’s position with respect to Z?
Z & HFeY X T TUTeT Hlddl g?

A Immediate right to Z
Z & UhcH o

B Second to the left
STC 8 g

C Third to the right




e ¥ dEw

D Third to the left
e g@’r
Answer D
Question Three of following four are alike in a certain way based on their
sitting positions in the above arrangement and so form a group.
Which is the one that does not belong to the group?
I R IR [Ahedl # @ T, W & cuaear # 39
S & T ¥ AR T fAfRTT alish @ §AE § aun
U THE 90 § | e & Flaar 37 @ag & A6 e @
|
A ZA
B XC
C CY
D XA
Answer B
Id 58
Question | Arrange the words given below in a meaningful sequence.
1. wood 2. Plant 3. Table 4. Tree 5. Seed
g & I esel o U ATS H cafeyd #Y |
1.ehar 2.9fer 3.AF 498 5.dA
A 5 2, 4,1, 3
B 3,2, 1,5, 4
C 2, 3,1, 4, 5.
D 4, 2, 1, 3, 5.
Answer A




Id 59

Question | Arrange the words given below in a meaningful sequence.
1. Marriage 2. Education 3. Birth 4. Death 5. Funeral
A & I el A Uk "idew H cyafeud # |
Lemer  2.fem 3.5wH 4.7cg 5 3HeaH - HER

A 3,1, 4,5, 2

B 2, 3, 4,5, 1.

C 3, 2,1, 4,5

D 5 2,3, 1, 4

Answer |C

Id 60

Question | Arrange the words given below in a meaningful sequence.
1. Milk 2.Grass 3. Cow 4. Butter 5. Curd
A & I eecl A Uk Ardew H cyafeyud # |
gy 2,99 3.9 4. AFGA  5.Ed

A 3,2, 1,5, 4

B 3,1, 2,5, 4

C 2,1, 3, 4, 5.

D 2, 3,1, 4,5

Answer |A




Id 61

Question _
Which day of the week was on 8 November 20187
8 TaFeX 2018 Sl HTATg &1 HiAAT & AT ?

A Friday
HEEINY

B Saturday
UfaR

C Sunday
{faar

D Thursday
ERLSSIREIRY

Answer D

Id 62

Question |A'is 13th from top, B is 18th from bottom. When A and B change their
position then A becomes 21th from top. What is the new position of B
from bottom?
AR ITTT IR AT IBTIBM AT AT T 18 aT g o9 d
TTH H YT T Seold g df A & TUT I 4 21 a7 gl
ST & , df ST ¥ B 7 A% ufa F=21r gefr 2

A 27

B 26

C 25

D 28

Answer B




Id 63
Question _ o
In each of the following select the one which is different from other three
responses.
AT @d 9T H, Teh [Ahod T IIT L AT 3T died Tdehedl
T P gl
A 88
B 97
C 132
D 121
Answer B
Id 64
Question |n the given figure, how many cardboard boxes are not white?&r iy
3Mpfd H,HSEIS & el f3sa The =T 87
M
|'.I .lli"u
Cardboard /
—
7\ \: Box
;/ 12 [6\ ;lo ~:|
white |9/ 9 .\’ 4
/ \
A 6
B 13
C 7
D 9
Answer A




Id
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Question

In the question, if a mirror is placed on the line given, then which of the
answer figures is the right image of the given figure?

g H, Ife TR gUuT &1 & I8 IWT R @ I1T g, df 3R feu
AT 3w A F FHieT A i wE ofa §2

STRONG
A
onosaTe,
’ ONoATL
- OMNOYTe
D

ONOYTE

Answer




Id
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Question

"RUMOUR" is written as "MURRUOQO". How is "RACKET" written in

that code languaae?

"RUMOUR" & "MURRUOQ" for@ar Sirar & | 59 I8 aT9T &
"RACKET"®! 5 9o forar Sreem?

A TEKCAR
B CARKET
C CARTEK
D TAKCAR
Answer |C
Id 67
Question _ _ _ _
How many triangles are there in the given figure?
& a1$ rpfa F Feget f @ Ad w12
N
\\ -, //
AN AN
- - .,
< el
\;\/\ /\/\/\
- S
A 20
B 23
C 24
D 26
Answer |A




Id
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Question |Rakesh is 6 ranks ahead of Tanvir in a class of 42 students. If Tanvir’s
rank is eighteenth from the last, then what is Rakesh’s rank from the start?
42f3efAT i T FHET H THA, AR F 6 TAT 30T g1 IS
dedR 3ifdd OR & 183 T W g, aF ANH & Jehel FT T2
T 87

A 14th

B 15th

C 19th

D 17th

Answer |C

Id 69

Question _
If6@4@7=101and2 @ 5 @ 11 = 150, then what is the value of Ain
A@8 @9 =289?
Jde6@4@7=1013R2@5@ 11 =150¢% AT A @
8 @ 9 =289 H A & HlT T g7

A 5

B 8

C 12

D 17

Answer |C




Id
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Question

Arrange the given words in the sequence in which they occur in the
dictionary.

few aTv ersal @I IS e HIA & HACTHR TATUT AT |
1. Energy
2. Earlobe
3. Economics
4. Edition
5. Editor
A 32415
B 23541
C 23451
D 34521
Answer |C
Id 71
Question |We haven’t had .............. news from our agent.
A some
B any
C no
D none
Answer B
Id 72
Question | Which of the following is an objective of speech in the learning process?
A improving one's writing
B improving one's listening ability
C making learner a good thinker
D making learner good in speaking with correct intonation and stress

Answer

D




Id
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Question

Read the following passage carefully and give the answer of the questions.
When you buy a car, examine carefully the important features of the
model you are considering. Many a buyer of the latest model has got into
trouble by buying a car too broad or too long for his garage. Further
more, a long car is too hard to manage in traffic and too difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably
upholstered? Is there enough glass to give the driver a god view in all
directions, particularly to the rear? It should be remembered that the
heavier and the powerful car is, the more expensive it will be to operate.
High powered motors, require expensive high-octane petrol. The greater
weight means greater tyre wear and enlarged brakes. The old cliche is still
true, it is not the initial cost but the upkeep which matters.

The writer favours a car with a wide glass areas, so that the driver can

A Enjoy the scene outside while driving

B have a good view of the rear

C roll down the glass panes to get enough fresh air

D display his beautiful upholstery with pride

Answer B

Id 74

Question | Select the synonym of the given word.
COERCE

A cajole

B pressurize

C enchant

D leave

Answer B

Id 75

Question | Choose the correct alternative of the following sentences.
The judge says, I shall punish the criminal.” The judge

A says that he will be punished the criminal

B told that he will punish the criminal

C says that he will punish the criminal

D said that he will punish the criminal

Answer

C




Id
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Question

Use the verbs given in brackets either in Active or Passive according to
sense of the given sentence.
Smoking has to....... in public places. (ban)

A be banning

B be banned

C Is banned

D IS banning

Answer B

Id 77

Question |Rearrange the following five sentence (A) , (B), (C), (D) and (E) in the
proper sequence to form a paragraph; then answer the question given
below them.
(A) A small wooden nest box is all it has taken to rekindle all the romance
of bringing sparrows and other birds back into our cities and halt them
from fading into the past like a forgotten folktale.
(B) There is something wrong with a city that remains unperturbed even
as its birds desert it.
(C) Thankfully, the situation is not as hopeless as it seems.
(D) Much as we try to defend the seemingly irreversible modern life of
these cities, we can’t stop our hearts from crying when we realize that our
rapidly degenerating urban eco-system isn’t generous enough to let these
delicate winged creatures build tiny little nests in its nooks and crannies,
sit in solitude, and rear offspring.
(E) And this desertion seems to be true with most metros in India where
house sparrows have almost become a thing of the past.
Which of the following should be the FIFTH sentence after
rearrangement ?

A A

B B

C C

D E

Answer A




Id 78

Question |Choose correct pair of words in the same order to fill in the blank spaces
and make the sentence meaningful.
Mothers led her childonthe  track.

A bewilderment, appropriate

B predicament, proper

C ignorance, wrong

D agony, funny

Answer |C

Id 79

Question | Ostentatious

A Nescient

B Awkward

C Bankrupt

D Reserved

Answer D

Id 80

Question |Pick the word/phrase most nearly opposite in meaning.
Controversy

A Concord

B Strife

C Disrepute

D Polite

Answer A
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Question
What sum of money must be given at simple interest for six months at 4% per annum
in order to earn Rs. 150 interest?
% 150 =TT UIed el & fav fohdal §93 & 6 FAGl & AT 4% IST &X
d ATYRUT SATST 9T Sall g1 ?

A Rs. 5000

B Rs. 7500

C Rs. 10000

D Rs. 15000

Answer B

Id 82

Question
The simple interest on a certain sum at 5% per annum for 3 years and 4 years differ by
Rs. 42. The sum is :
e TR o 5% a1 sarer $r ax & 3 asf 3R 4 asf & greg @ramor
TSIl & T 42 &7 AR g1 dg ATA §ar3fr ?

A Rs. 210

B Rs. 280

C Rs. 750

D Rs. 840

Answer | D

Id 83

Question
The difference between the simple interest received from two different sources on Rs.
1500 for 3 years is Rs. 13.50. The difference between their rates of interest is :
T 1500 &I = W 3 I¥ FT &l oot Wadr § Ied AT FH AR T
13.50 g1 df 3eThr SAT &IF &1 A JaTT|

A 0.1%

B 0.2%

C 0.3%

D 0.4%

Answer | C
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Question
Asum of Rs. 10,000 is rent partly at 8% and remaining at 10% per annum. If the
yearly interest on the average is 9.2%, the two parts are
% 10,000 T TRY T FT AT 8% AT & T AT AV 7T 10% T &I &
3UR T &1 I 39 irad a1 sareT &X 9.2% &, &kl omer g
A Rs. 4000, Rs. 6000
B Rs. 4500, Rs. 5500
C Rs. 5000, Rs. 5000
D Rs. 5500, Rs. 4500
Answer A
Id 85
Question
4
The simple interest on a sum of money is gof the principal and the number of years is
equal to the rate percent per annum. The rate per annum is :
4
WWWWWWWE%I Ifg QU a0 a7 W sAr H
¥ eT TAT FHIT A 8T df SISl &3 AT gy ?
A 5%
B 2
6§%
C 6%
D 1
75%
Answer |B
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Question
2
In what time will the simple interest be EOf the principle at 8 percent per annum ?
! 2
fohctel THT #H 8% T aTf¥ier aX § HWIURUT SUTST I FHeAU E@’WT?
A 8 years
B 7 years
C 5 years
D 6 years
Answer | C
Id 87
Question
A can do a piece of work in 15 days and B in 20 days. If they together work it for 4
days, then the fraction of the work that is left is:
A TF FHH & 15 &l # dur B 20 Gl & X Fhar © | I T 4 Al
T TH T FH A § O AT FA hdem fwar sar g3m &
A 8
15
B 7
15
C 1
4
D 1
10
Answer |A
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Question
A and B together can complete a work in 10 days. A alone can do it in 40 days. In how
many days B alone can complete it?
31 3R § fAeRT fRell &1 &1 10 i 7 T Fhd §1 37 3ehelr 38 40 et
H X GHT &1 T FT 3Hhel &1 36 FF A T A H Fdar AT F@am?
A 40
3
B 10
C 8
D 30/7
Answer A
Id 89
Question
Ram can complete ¥ th part of work in 8 days and Shyam can complete 2/4 th of the
work in 6 days and Naresh can complete %th the work in 12 days. In how many days
can they together complete it?
TH,1/4 ST & 8 el & TUT IH 2/4 1 &t 6 e & gHATT Fa ¢
qUT A 3/4 HAET HH 12 AT & Har g1 ar diadl Aot 39 HT &l
fRaer feat 7 @aATea HYam-
A 11
17
B 11
°17
C 11
17
D 11
17
Answer |B
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Question

A, B and C together can do a work in 8 days if Aand B can do it in 20 and 30 days
respectively. In how many days C alone can complete it?

37,g dur ¥ Ao Rt 5 & 8 foad & X Fva &1 IS 37 37her 20
fesT a1 9 30 T & T Fham g1 d FdF F 3ehell fohdar 7 & &l
I I G HLIM?

16

18

20

OO w|l >

24

Answer

D

Id
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Question

P takes 5 more hours to complete a work in comparison to Q. They work together for 6
hours. In how many days can Q complete the same work.

forell & &l QU Fd H P 7 Jolll H Q 5 6 3H—AF AT g1 opiod
AR 38 & T 6 g F QM 6A1 Q 3rhell 37 S & QT Aol A

fohaaT IaT oar?

8 hours

g ge

10 hours
10 O¢

12 hours
12 e

15 hours
15 ¢

Answer

B
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Question
A complete a work at four times the speed than C. If together they can complete a
work in 20 days, in how many days can A alone complete it?
A T 1A T C T IUeT IR T[T ol & HIH FIAT &1 IS et fAerat
forel & & 20 &7 A FATCT 3 §, A 38 F A fhde & # |qATT
HM?

A 25

B 100

C 75

D 80

Answer A

Id 93

Question
Shyam can work at thrice the speed than Naresh. If together they can complete a work
in 32 days, in how many days can Naresh alone complete it?
RYTH, XA T 3ALT ef AT Aol & H1H FIAT g1 Il et Rl F1A
32 o7 & AT aA g, ar R 39 FH A fhdel A H FHATCT FM?

A 120

B 128

C 124

D 144

Answer |B

Id 94

Question
Ratio between the time taken by A and B to complete a certain work is 4:5. If together
they can complete a work in 20 days, in how many days can A alone complete it?
A3 B& ganl ARed #1& & o7 HT 1 3eqard ¥:9 3| IS el e
F &l 0 oAl H FATCT A § af A3ehel fohdel Gl & 39 I &1
HHTCT LT

A 30

B 32

C 36

D 45

Answer |C
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Question

A single person takes 4 minutes to type a page, if from 12 noon to 1.00 pm., 1080
pages are to be typed, how many persons should be employed on this job?

U hfdd 1 U 55 BT Hlel A 4 fAee aerd §1 adge 12.00 s &
1.00 S5 @ 1080 Js& TT3Y ol & foIv 37 & g fohelel et oy
St aTfgu?

108

60

90

OO m >

72

Answer

D

Id
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Question

Amar can complete ¥2 work in 3 days and Bhaskar can complete 1/6 th of the work in
4 days. If they work on it together, they get Rs 1800. Find the amount received by
Amar.

3R AT FT & 1/4 $ET A 3 A AT HIER 38T T & 1/6 HET &1 4
e 7 QU & Fhar g1 I ST e & & QU & dr 1800 T &
AgAd H @ 37 & fhaer Tfr AeEh?

Rs. 600

Rs. 1000

Rs. 1080

O 0O m >

Rs. 1200

Answer

D
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Question

Navneet and Prabhat can complete a work in 20 and 25 days respectively. They work
for Rs 4500. Find their wages.

FAdd AT YATT THET FHIH T HAA: 20 8T v 25 8T H T Fehar ¢
alel AT 4500 T & AT Hgard &9 § A ATl A& 1|
AT & §1C Glell Sl Aol 3Heldl-3Teldl HAM: AT Hi?

Rs 2000, Rs 2500

Rs 3000, Rs 1500

Rs 2500, Rs 2000

OO wm >

Rs 3500, Rs 1000

Answer

C

Id
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Question

Ram and Naresh can complete a work in 20 days while Naresh takes 36 days. They get
Rs 720 for it. Find salary of Ram.

TH vg N fHA w17 & 20 AT F gATT X §, Siafeh aRer 4T &1
Fr 36 feell 7 FATCT Xl g1 all S ASigY & §9 #H 720 T fFerd §
SHH TH & Asigyl & &7 H fehclell ThA FIed glan?

Rs 300
3009

Rs 380
380%TY

Rs 400
400F9

Rs 320
32089

Answer

D
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Question
Ramesh and Dinesh can complete a work in 15 and 20 days respectively. Ramesh
started working but after 5 days Dinesh replaced Ramesh. Find the share of Dinesh in
Rs 15000
A T Tearer fondr ST Fr harer: 15 & wa 20 T & & Fopd g1 &Y
o I AT P RAT TG 5 R & a1E WU F T WA H A
oANT| HE-FAMCT & d1e 15000 FIF T Fel Holgdl H A feAer v et
T fAelr?

A Rs 5000
5000 T

B Rs 9000
9000 T

C Rs 10000
10000 TG

D Rs 8000
8000 T

Answer |C

Id 100

Question
30 Men can complete a work in 25 days. In how many days can 75 men complete it?
30 3TGHT fRaY HIH FI 25 T H X Hhd & df 38T HH HI 75 A
fordar f&ar A X ariar?

A 15

B 12

C 16

D 10

Answer |D




